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QUESTION 1

You have installed the Gadget server and are trying to register new gadgets for your site. When using the Admin UI, you
do not see the asset type FW_CSGadget listed in the search list, although this asset type is correctly enabled for your
site. You can see "Find CS-Based Gadget" in the Start Menu for this asset type and it has been assigned "Any Role."
Other asset types for the site can be searched but not FW_CSGadget. 

What could be the reason? 

A. By default, the Admin UI does not allow you to find non-structural assets. 

B. The gadget has not been properly registered. 

C. The default language of the gadget is mismatched. 

D. When registering the gadget, Show Gadget was not selected. 

E. The XML registration of the gadget is corrupted. 

Correct Answer: B 

 

QUESTION 2

When creating a user in the WEMinterface, what are theminimum fields that are required? 

A. Name 

B. Email 

C. ACLs 

D. Groups 

E. Password 

F. Assign user to a site 

Correct Answer: C 

 

QUESTION 3

Given:http://host:port/servlet_context_path/ContentServer?pagename=name_of_page 

In the preceding URL, which two legal values does name_of_page represent? 

A. externally callable name of a template 

B. SiteEntry 

C. CSElement name 

1Z0-462 PDF Dumps | 1Z0-462 Practice Test | 1Z0-462 Braindumps                                2 / 7

https://www.certbus.com/1z0-462.html
https://www.certbus.com/1z0-462.html
https://www.certbus.com/1z0-462.html


https://www.certbus.com/1z0-462.html
2024 Latest certbus 1Z0-462 PDF and VCE dumps Download

D. fully qualified page asset name with URL encoding 

Correct Answer: BD 

 

QUESTION 4

Which two administrative capabilitiesare included on the Admin tab in the Admininterface? 

A. User Generated Content 

B. User Profile 

C. Publishing 

D. Segment Creation 

E. In-Context editing 

Correct Answer: BE 

 

QUESTION 5

What is wrong with the following code fragment? 

A. Nothing. This code fragment will work as expected. 

B. The slot name HelloSlot cannot be repeated for any given content management site. 

C. The template name Detail cannot be repeated for any given content management site. 

D. Theinsite:calltemplatetag has a syntax error. The Argument field, which is a required argument, is missing. 

Correct Answer: D 

 

QUESTION 6

What are the basic required components to make the Contribution User Interface usable? 

A. users (including their ACLs and roles) and the data model 
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B. users (including their ACLs and roles) and auxiliary user interfaces 

C. a data model, auxiliary user interfaces, and a JSP page template 

D. users, a data model, and a workflow 

Correct Answer: B 

 

QUESTION 7

You are responsible for a small marketing website that was built WebCenter Sites that consists of page assets and page
templates. The site is fully cachaed and does not use an uncachedSiteEntry wrapper. The Marketing department has
requested that you make the site responsive such that visitor experience is good even when you web pages are viewed
on other devices, including tablets and mobile phones. You are tasked with designing an inexpensive solution that does
not impact performance,add more hardware, change the asset model, or impact the contributor\\'s current workload or
the process that creates the web pages. 

What would you do to address their requirements? 

A. Refactor your page templates to use a third party JavaScript or CSS framework such as Foundation 3 or CSS3
media queries. 

B. Add browser detection logic to an uncached JSP SiteEntry wrapper, which then dispatches to one of three different
page templates: one designed specifically for computers, one for tablets, and one for mobile phones. No third party
framework is used. 

C. Create three different contribution sites, one for each device, and map them to a specific subdomain, such that all
"mobile.xxx.com" requests get forwarded to the mobile site, all "tablet.xxx.com" requests get forwarded to the tablet site,
and so on. No third party framework is used. 

D. Install an additional WebCenter Sites mobility server environment. 

Correct Answer: A 

 

 

QUESTION 8

Which one of the following accurately describes WebCenter Sites? 

A. an Records Management solution with smart WYSIWYG authoring, a preview environment, and publication
workflows 

B. a Content Management System (CMS) that is complete with a delivery platfom, to manage multiple business sites 

C. a .NET development platform with a high performance caching architecture 

D. a commerce site management solution to deliver multichannel, multibrand, and multilingual websites 

Correct Answer: C 
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QUESTION 9

Which four are fundamental termsin WebCenter Sites thatare represented in the Contributor UI? 

A. asset 

B. page 

C. templates 

D. roles 

E. clickstream 

F. search engine optimization 

Correct Answer: ACEF 

 

QUESTION 10

Which statement is trueaboutapproval dependencies? 

A. Asset dependencies are stored in the AssetRelationTree table. 

B. Asset dependencies and composition dependencies are calculated independently. 

C. Collection and recommendation assets have a dependent query asset. 

D. Basic assets have only one type asset dependency relationship. 

Correct Answer: B 

 

QUESTION 11

By default,SiteCapturecan be used to crawlan instance of WebCenter Sites.Identify two tasks thatSiteCapture
performs. 

A. It makes PDFs of the captured site. 

B. It archives a site in a zip file with metadata, HTML, JavaScript, and blobs. 

C. It saves only the pages that were changed to the SiteCapture file system. 

D. It crawls the site as different users. 

Correct Answer: AC 

 

QUESTION 12

In a default installation,which three users existin the SystemUsers table? 
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A. Fwadmin 

B. csuser 

C. ContentServer 

D. DefaultReader 

E. SatelliteServer 

Correct Answer: BCE 

 

QUESTION 13

You are deployingWebCenter Sites usingOracle technology.Which two componentsare required for aSites installation? 

A. Oracle Database 

B. Oracle WebLogic Server 

C. Oracle Coherence 

D. Oracle Identity Manager 

E. Oracle WebCenter Content 

Correct Answer: BD 

 

QUESTION 14

Given this scenario:A flex family iscreated with twoflex asset types,one parent assettype, oneparent definition
assettype,and oneflex definition asset type. 

Which statement is true? 

A. For every flex definition, you must create a corresponding start menu. 

B. It is possible to assign a specific flex definition asset type to a specific flex asset type within the flex family creation
wizard forms. 

C. A flex definition asset can be assigned to a particular flex asset type within the flex definition asset creation form. 

D. By default, any flex definition can be assigned to a flex asset within a specific flex family at the time of creation. 

Correct Answer: D 

 

 

QUESTION 15

Which database does theJumpstart Kit use? 

1Z0-462 PDF Dumps | 1Z0-462 Practice Test | 1Z0-462 Braindumps                                6 / 7

https://www.certbus.com/1z0-462.html
https://www.certbus.com/1z0-462.html
https://www.certbus.com/1z0-462.html


https://www.certbus.com/1z0-462.html
2024 Latest certbus 1Z0-462 PDF and VCE dumps Download

A. MySQL 

B. HyperSQL 

C. Sybase 

D. Oracle Express 

E. TimesTen 

Correct Answer: E 

Reference: 

http://www.oracle.com/technetwork/database/database- technologies/timesten/overview/index.html 
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